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escriptive) are to be given in the main answer book

Answer of all questions (short answer as well as d
n must be given in sequential order. Similarly all the parts

onlv. Answers of short answer type questio
book. One complete

of one questions of descriptive part should be answered at one place in the answer-

question should not be answered at different places in the answer-book.
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Write your roll number on question paper before you start writing answers of questions.
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Part - A : Shall contain question no. 1 consisting of very short type X (Ten) questions. The candidate 13

required to answer each questions in 20 words.
(Five) questions. The candidate is required to

Part - B : Shall contain question no. 2 consisting of V

answer each question in 100 words.
Part - C : Shall contain 3 eassy type questions (one form each section) with internal choice.
t-A and Part-B are compulsory while rest 3 question

Attempt Five questions in all. All questions of Par
ach section. All question carry equal

are to be attempted from Part-C selecting one question from e

marks.
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PART-A/ 90T-A

Explain the following :
frafafad cageic HIT ¢
(i)  Indifference Curve.
qeeydl 9%

Who has first coined and used the terms Micro and Macro Economics?

sifie ud gufie ST VR §1 wdyed 33 9 HA 97

(i1)

(iii) Saturation Point.
Hqfa fag

(iv)  Elasticity of Demand.
oM Fi A

(v)  MRTS ck

MRTS ck

(vi) C.E.S. Production function.

C.E.S. ST Teid

(vii) If a production function should constant Returns to scale, then what will be the returns to a

variable input?

A AR T TR # feer vfawdl @ <@ €, @ wedeid wa % v shea @0
(viii) Who has propounded the Risk and Uncertainty theory of Profit?

@9 % Sifen e sffeaa fagia & sfaues S 97
(ix) Quasi-Rent.

A49E T
(x)  Who has given the concept of Double Exploitation of labour?

g8 % T TN 1 faERy & yfaues S 97
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PART-B/ -v
2. Answer all the following :

frefafad gt goat &1 3¢ fafam .
(i) Briefly explain consumer's equilibrium with the he
T % I #) wrpm  Iufiga 3 e ®y wfera o faga #ifam,

(i1)  Define price PlﬂStiCity of Demand and write down the properties of Elasticity.

ﬁnﬁﬁuﬁﬁaﬁqﬁmﬁaﬁm@mﬁ%ﬁwﬁml

(111)  Explain the concept of Ridge lines.
RARICIE TR T S g— Bl
(iv)  Distinguish between perfect and pure Competition.
wmmmﬁmﬁnmﬁﬁawﬁﬁm
(v) "Profit is a Dynamic Surplus" Comment on it,
O T T i 37 i § oo Fifer
PART-C/ wr-§

SECTION-A / @Ug-31

Ip of Indifference Curve Approach.

3. Elaborate decomposition of price effect into substitution and Income effect in the case of Normal,

Inferior and Giffen goods.

W,Hﬁm@ﬁfmaﬁﬁﬁaﬁﬁ,mwﬁﬁqwm@mwﬁﬁﬁwm

S THA §7 TR Fifu)
Or/3tgar
Write a short notes on the following :
(i) Law of Equi-Marginal Utility
(ii)  Consumer's Surplus
fretfafed w dfaa o feuforal fafen .
()  |9-dmid TgEfma #:

(i)  Iuqre &1 “fdis

V-0500/1208-1 3
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SECTION-B / @US-9

4 Explain the determination of price and output under Price Leadership
mm#m,m@mﬁamaﬁﬁwaﬁﬁm

Or/319dart

Write short notes on the following :

(i)  Minimisation of cost subject to given output

(ii)  Types of production function

frefafed W gfra § fewforr fafen
IO & R g ER W, A6 FAaHS

(1)

(i) IQEA Fod & THR

SECTION-C / @Us-H

5 Explain the factor pricing under following cases :
Frotferfan feafeal & e o fufor # frega FIRT ;
(1) When there is Monopoly in Product Market and Perfect Competition in factor market.
9 IMR TR F THIYER & iR Fed aeR o qof gfeemsd 2@
(i) ~ When there is monopoly in Product market and Monopsony in factor market.
549 IR AR H THTHFR & 3R Ged aeR § Bafusr @l
Or/3gar

Briefly explain the Loanable theory of Interest.
AN % KURG TG Fl i feragd Ffe

Kdokokok

-0500/1208-
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of one questions of descriptive part should be answered at one place in the answer-book. One complete

question should not be answered at different places in the answer-book.
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Write your roll number on question paper before you start writing answers of questions.
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Part - A : Shall contain question no. 1 consisting of very short type X (Ten) questions. The candidate is

required to answer each questions in 20 words.

Part - B : Shall contain question no. 2 consisting of V (Five) questions. The candidate is required to

answer each question in 100 words.
Part - C : Shall contain 3 eassy type questions (one form each sectioﬁ) with internal choice.
Attempt Five questions in all. All questions of Part-A and Part-B are compulsory while rest 3 question
arry equal

are to be attempted from Part-C selecting one question from each section. All question ¢

marks..
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H sl B

of India.
‘vt What are the two major cropping seasons in Agric. < r2”
¥ T 7 vgE vEA % 0y 39 27
w1 Define Public Distribution System.
‘vii) Name any two institutional sources of Agriculture Credit.
vii) Name any two ‘Mazharatna” enterprises in India

mﬁﬁﬁ“m"wﬁfimm:

2 Define Disinvestment of Public sector enterprises
T 43 % v # fafras 5 RS L OIS .
-
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PART-B/ 9T-5

2. Answer the following briefly in 100 words :

4x5=20
frfafed &1 sw wf@ o 100 v=t & S
(i) Discuss the causes of rapid population growth in India.
IRd H d9 A9 gfg & wrof @ fad=m sifs)
(ii) Discuss the objectives of National Population Policy, 2000.
T SHEE Hifd 2000 & e F feamr wife)
(iii) Discuss the role of agriculture in Indian Economy.
TR sreferaeen ¥ $ Y gfrew | == Fifew
(iv) Discuss the Agricultural Price Policy in India.
96§ $N g fifs w == wifsg
(v)  State the major categories of MSMEs in India.
9Rd § MSMEs &1 ¥q@ 2fri <asu)
PART-C/ 911-9
SECTION-A / @Us-3
3. Discuss the basic features of Indian Economy. Explain the structural transformation since
independence in the economy. 10+10

T i F1 ghER faeae s FY srefera § @A 9% W e Wi
I A HISU |
Or/31gar
Discuss the trends in National Income growth since independence in Indian Economy. 20
GRATg refeaee] § waad & 9% 9 UG o g & ygfedl W= s
SECTION-B / @Us-d
4.  Explain the Land Refofms introduced in Indian Agriculture post independence. 20

WA & 9% 9RAE H6 9 e T gt gun i s wifs)
V-0503/1208-IV 5 P.T..



Write short notes on the following :

frefefaga W G fewforar fafea -

(i) Green Revolution 10
g sifd
(i) Impact of globalization on Indian agriculture. 10
gRT HW W AvAHOT FH I
SECTION-C / @vs-d
5. Discuss the Industrial Policy in pre and post liberalization period in Indian Economy. 20
R seferaEen § IR0 § TEd SR A ety o shenfrw Aifd w == Fi
Or/31egar
Discuss the labour reforms introduced since 1991. Evaluate the new labour code introduced in
2020. 10+10
1991 @g},zaﬁ?qmwguﬁmaﬁﬁﬁq:aﬁzozoﬁ%ﬁqwm%mmw
it
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Answer of all questions (short answer as well as descriptive) are to be given in the main answer beok

only. Answers of short answer type question must be given in sequential order. Similarly all the parts
of one questions of descriptive part should be answered at one place in the answer

question should not be answered at different places in the answer-book.

W(mwm)uﬁ%wg@w—gﬁﬁwﬁﬁ%@WWﬁE‘WM%
mﬁilsﬁrwmﬁ@mmémﬁmﬁfww%w,m—mﬁ
m—mwﬁmwmﬁ%m@ﬁwmmwﬁl

-book. One complete

Write your roll number on question paper before you start writing answers of questions.
T % I faed ¥ 1@ v -1 W 4d TR ey o)

Part - A : Shall contain question no. 1 consisting of very short type X (Ten) questions. The candidate is

required to answer each questions in 20 words.

Part - B : Shall contain question no. 2 consisting of V (Five) questions. The candidate is required to

answer each question in 100 words.
Part - C : Shall contain 3 eassy type questions (one form each section) with internal choice.

Attempt Five questions in all. All questions of Part-A and Part-B are compulsory while rest 8 question
are to be attempted from Part-C Selecting one question from each section. All question carry equal

marks.

P.T.0.
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PART-A/ 9m1-31

1. (i) What is Mercantilism? 2x10=9

efefaa @ R?
(ii)  Explain the first law of Gossen.

T ® vy frEm @ e ifsu)

(iii)  Which economist related economics with human welfare?

fom sy 3 arefE & WHG Hew 9 e

(iv)  Which is the most popular book of Dadabhai Naoroji?

TR AR F GeR At feae w82
What is Division of Labour?

sm faarem &1 2?2

(vi) What do you understand by Consumer Surplus?

ST P § Y R GHIA B2

(vii) Which economists is known as population scientist?

frg oSt F SHGE SAE ® €Y § S ST 2?2

Write any two factors responsible for rise of Physiocracy.

difs d9 & 394 & AL I HR T Hew ey

(viii)

(ix) What is Net Product?

F2 IR 87
(x) Who has Written Principles of Political Economy?
TSifaE AdaE & fagia fee fag 87
V-0502/1208-111 2



T ARRLVACD/ TN

2. (i)  Explain the Tableau Economique. 4x5=90

anfefer = &1 AR Fifsu)
(ii) Explain the concept of Sarvodaya, by Gandhiji.
THIST 510 A R SR &1 =AREn Hif
(iii) Explain economic ideas of Merchantilist.
AR & e faumi w1 smen wif
(iv)  Concept of Marshallian utility and demands Explain.
i Ffefadt e femiz ) smuRon %t swE Hifs
(v)  Discuss economic ideas of louis Blanc.
T wF B oin fEr W = i
PART-C/ 97 1-9
SECTION-A / @Ug-3
3. Critically evaluate the economic ideas of Friedrich List. 20
Fefsh fore & anfiie ol =1 el e #ifm)
Or/3tgar
Critically examine the Ricardian theory of compa;ative cost.
qoTeh T & Remrrear fagid 1 qareiseies e Hifig)
SECTION-B / @Ues-q
4. Discuss the main economic ideas of J.S. Mill. 20
Sige. et g1 few e e et fod @ e i

Or/31gat

Discuss Karl Marx Labour theory of value and theory of capital accumulation.

e & el T o9 fagia R oo W o et W it

P.T.O.
V-0502/1208-111 3




SECTION-C / @ug-Hq

Discuss the economic ideas of Kautilya in ancient Indian thought.

YT 9RAE faa § Sifeca & onfds faard Y == s
Or/3gat

Write short notes on any two of the following :
frafafes § @ fed @ W Gfa feaforat fafee -

(i) Integral Economic policy of Deendayal Upadhyay.

AT U™ hT TS A Al
(ii) Gandhi's views on Swadeshi.
Rt | e & foERI
(iii) The Drain Theory of Dadabhai Naoroji.
< AR A @A
sk
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“nswer of all questions (short answer as well as descriptive) are to be given in the main answer book

only. Answers of short answer type question must be given in sequential order. Similarly all the parts

of one questions of descriptive part should be answered at one place in the answer-book. One complete

question should not be answered at different places in the answer-book.
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Write your roll number on question paper before you start writing answers of questions.
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Part - A : Shall contain question no. 1 consisting of very short type X (Ten) questions. The candidate is
required to answer each questions in 20 words.

Part - B : Shall contain question no. 2 consisting of V (Five) questions. The candidate is required to
answer each question in 100 words.

Part - C : Shall contain 3 eassy type questions (one form each section) with internal choice.

Attempt Five questions in all. All questions of Part-A and Part-B are compulsory while rest 3 question

are to be attempted from Part-C selecting one question from each section. All question carry equal

marks.
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" ) variable and constant.
1 (1

/ 7 7 faeraia
(1)

logarithmic function.

VKR ISRl

Git -2, < State the slope and intercept.

(o4 e i 3 @ue AR
(iv)  Find the value of (216)%.

(216)* F1 94 F1d Hife)

(v)

In how many ways 'ECONOMICS' word's letter can be arranged?

ECONOMICS'Wa&a?&vﬁaﬁﬁﬁ#aﬁa%@W@ﬁmmm%
?

Vi) D l
efine the Harmonjc Progression with example

T S F S 29w ey i
1‘"1’1’/ Sl!lgular L{a tnx

(Vi
Viij) Inﬂecu'on Point




PART-B/ 9m-&
2. (1) Ifx, =24 -P -2P,
X, =64 - 3P, - 3P,
Determine the nature of commodity and cross partial elasticities.

R x, =24 -P - 2p,

X, =64 - 3P, - 3P,

aﬁaﬁﬁwﬁwmﬁ@mwﬁmmn

o e

(1)  Expand (3x + 7)°
(3x + 7)° fom=r =ifsm)
1) IfC=Q°-3Q%*+27Q
Find the output level at which AC = MC
Ik C =Q°-3Q%*+27Q
€ AR T A FHiteg 5@ W AC =MC
(iv) Add 27.+12and V48
el /27.+/12 and J48

(v) Ifdemand functionisP=a— bx?

. AR
Then venfy e=—=—m

gfe gm weA P:a—bx“%,?{T
" AR
fag FitaT ©“AR-MR

pP.T.O.
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PART-C/ 9TT-¥

SECTION-A / @U8-3

Show that m = n 4 1
W??ﬂ"?ﬁ m=n+ 1

) Ifm=a'=+a s

Show that m - 3m =a +"1—

aft alz+a s

oig fF m*-3m=a +%

TFq &2
1) Simplify -
_ ¥ S
\'7—\/§+\/§_ﬁ_\/§_\/§
Vs e

N

SECTION.B / @ug-§
) Discuss the Properties of Determinant.
1) Define the following -
s Warfen gifsy .
(a) Symmeu'ic Matyix
V-0501/1208-II
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(b) Unit matrix

T Ay

(iii)  Solve the following by Cramer's rule. 10

Tx—y—-2=0
10x -2y +z=8

6x+3y—-2z=17

freferfen sl 7 % fram @ g0 T wi
Xx-y—-2z=0

10x-2y +z=8

6x+3y-2z=17

Or/3tgar

1) Find the inverse of Matrix A.
i 2 3
134
143

Afesq A &1 wioam 9@ St
123
134
143
7

(ii)  Find the sum of n terms of the series :

3+33+333+ i

it & UG n H G FMG BN ¢

3+33+3334 . ciiiiiiiiiiinnnn.

.T.O.
V-0501/1208-11 5 P




(1i1)

. 4
seventh term is r then find

5

i ralue hird terms is — and
In a G.P. series the value of third term .
common ratio.

y . N 4 )
@G.P.Mﬁaﬁ%waﬂmiﬁéavnmaétmaarnm?;%aﬁméﬂqmmaﬁm|

SECTION-C / @UE-H

5. Find the value

TH F FIS
@ [a +5eT +4" +e7 +70)dx 4
(i1) ﬂ_r:a'.r‘+e"+x/§ 4
dx
(1) The cost and demand function of a monopolist are as follows : 12

P =80 - 10x Demand function

C = 5x2 + 20x Cost function

Find profit maximising output level, price level and amount of profit.
T THIEFR A 3R A6 e[ 59 TR & -
P =80 - 10x 7 %o

C = 5x? + 20x A T

amazﬁmmaﬁuaw,mmwwwwﬁww|

Or/319ar
(1) IfTC:O.lq3—O.6q2+2Oq
12
find the
price level of a firm working under perfect competition In case of equilibrium
m TC:O 1q4~06q2+20q
T ity o
' 1 fefs § gy
FH 9t
T 1 TR FE e e

-0501/1208.f
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(11i)

3
;X3+——+e" +70

3
fe MC=X +—+c+70
7C 3 AC T it
If x = Kp° Find the Price elasticity.

g x:Kp'c’cﬁ Fa A I ST

V-0501/1208-11
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